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1 Solve the simultaneous equations

9x — 5y =52
4x — 3y =27.

Answer:x= ............ y= [3]
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3 Factorise completely
(@) 6x*—9xy,
(®)  4ab+cb-3¢* —12ac,
() 25n%— om?,

(d) 2x*-7x+6.

T 0 ) R PUI [1] ]
111 RO [2] :
7y A [1)
OB ssscnmmmemsssasnss (2]
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4 Express the following as a single fraction in its simplest form

() m-3 Tm

| 3 12°

® 3,7
P g

(c) 4x+6 3

+ 3

=25 5-x
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5 Given that 4 cm on a map represents 3 km on the ground,
(a) calculate

(1) the actual distance, in km, between two towns which are 10 cm apart on
the map,

(i1) the distance between two schools on the map, in cm, if the actual
distance is 5 km apart,

(iii) the area of a town on the map, in em?, if the actual area of the
town is 27 km?,

(b) find the scale of the map in the form 1 : n.

Answer : (@)} .-.-eaoovnieeenniiine. km (1]
: 113 R eeret - SN | |
) oscimsnimmnens 2]
1) T [1]
5
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6  Solve the following equations
@ 3(¢q-2)=4,

®) (2y-3)(»+1)=—4(2y-3).

84 g

Answer 1 (8) @ = ininsninnsnaianas N

M) y= i OT ¥=eevvveennnnne 3]
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i)

(a)

(b)

It is given that y is directly proportional to and whenx=3,y=2.

Find
(i) the equation relating y and x,
(i) the value of x wheny =-4.

xX—

Five men take nine days to build a house.
How many days would three men take to build a similar house?

Ansﬁer:[a}(i)

(@)(1) K= ceoreeeneenriniens

EBY s cmeninsmsassss e ANE

(2]

[2]

[2]
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8 Given that ab =25 and (a - b}1= 60, find the value of a® + b°.
R T (2]
9 Inthe diagram, POR is a triangle in which PR = OR . PRSU is a straight line
and ST is parallel to RO . Given that ZPRQ = 68°, find the values of x, y and z.
13
Z
S U
BRI = it [1]
= (1]
R (1]
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10 Inthe diagram, AE = AC and AACB and AAED are right-angled triangles.

(a) Show that AACB is congruent to AAED .
(b) Given AD =25cm and EB = 10 cm, find the length of AE,

11:-:9/' B
&
F
r\
25¢cm
ANSWET T (B) ..o oeicaiaianerannsnseraussranas st iritabb s s amn st et s s s
(3]
Answer:(b) AE= ....cccvvvvineneecm o [1]
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11 (a) Complete the table of values for the equation y=x+1,

x ] -2 0 1
Y 1 = 2

(b) Draw the graph of y = x +1 on the grid. [2]
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(c) Hence, solve the simultaneous equations g,ra;ihica]iy
x+y=-2
y=x+1.

Answer : (c) x = crrrrnes s ¥ s [2]
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12

The curve y = (x+4)(2— x) cuts the x-axis at 4 and y-axis at C as shown in the
diagram.

(a)
(b)

(c)
(d)
(€)

Write down the coordinates of 4 and C.

Write down the equation of the line of symmetry for the curve

y= (x+4)(2-x)

Hence, write down the coordinates of the maximum point, B of the curve.
Calculate the area of A4OC .

Point D lies on the line 4C and OD is perpendicular to AC. Given that the
length of AC is 8.94 units, find the length of OD.

Y

-
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e
e
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Anewerals) A {campnani) o G
: ®) ..
: (€ Bl e )
| R units’
' P units
END OF PAPER
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i Givewlia ﬁ[ %} :

(2) makehthe subject of the formula. ' * [2¥

(b) find the value of g

ifr=3.
R (2]

2. By completing the square, express —x” +8x +15in the form of — (x + a)’ +b and
hencesolve —x* +8x+15=0. [4]

3. A small cylinderis geometricall ¥ similar to a large one. The height of the small
cylinder is8 cm. The height of the large cylinder is 20 cm.

(@) The small cylinder has a circumference of 24 cm, Find the circumference of
the large cylinder. [1

(b) Find the ratio of the volume of the small cylinder to that of the large cylinder.

(c) Both cylinders are filled completely with sand. The mass of the sand in the
small cylinder is 250 g. Find the mass of the sand in the large cylinder. [1]

4. AB, BC, CD and DE are adjacent sides of a regular polygon.Given that the exterior
angle of the polygon is 24°, calculate

(a) the number of sides of the polygon, - (1

(b) ~ZBAC. [1]
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5. Inthe diagram, BA is parallel to CD and BC is parallel to ED.
A
z - D
8cm
6cm
B
7cm ¢
(a) Explain with reasons, why triangle ABC is similar to triangle CDE. 2]
(b) Find
(i) thelength of DE, 1]
G area of AABC
the 1l OF rea of ACDE (2]
7. Given the points4( 4, 2) and B(-4, —6), find
(a) the equation of the line 4B, - - [2]
(b) the value of k if the point[k,—.i 15) lies on the line AB, [2]
(c) thelength of 4B, [2]
(d) the value of a if the line 3y = 2ax +6 is parallel to the4B. [2]
8. A man buys a certain number of articles for $24.50.
(a) If the price of each article is $x, write down an expression in terms of x for
the number of articles bought. [1]
(b) Write down an expression in terms of x for the number of articles that can be
bought for the same amount of money if the price of each article is reduced
by $4. [1]
(c) 1f4 more articles can be bought at the reduced price, form an equation in x
and show that it reduces to2x* —8x—-49 =0, [31
(d) Solve the equation 2x” —8x - 49 = 0, giving each of your answers
correct to 2 decimal places. Hence find the reduced price of each article. [3]
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The variables of x and y are connected by the equation y = 2x? +3x—4 .

% ' = ] 0 1 2 3

5 P 1 -5] -4 I q 23

(a)

(b)

(c)

Calculate the values of p and q.

Using 2 ecm to represent 1 unit on the x-axis and 2 cm to represent 5 units on

the y-axis, draw the graph of y = 2x? +3x— 4 for-3<x<3.

Use your graph to find

(i)  the values of x when y=13,

(i)  the value of y when x = 1 P &

(iii)  the coordinates of the minimum point.

- End of Paper -
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9. Answer the whole of this question on a single sheet of graph paper.
Two towns A and B are 50 km apart. Cyclist X starts cyclingat 9 am. from Town
A towards Town Bat 20 kmv/h for 1 hour. Then he rests for 30 minutes and
completeshis jouney at 11.30 a.m.
(a) Draw a distance-time graph to show cyelist X’s journey. Use a scale of 2 cm
to represent 30 minutes on the horizontal axes and 2cm to 5km on the
vertical axis. [3]
(b)  From the graph, find the speed of the cyclistX after he rested for 30 minutes. [1]
(¢}  Another cyclistYstarts his journey from Town B,30 minutes later than
Cyclist X and cycles to Town A at constant speed of 40km/h.
(i)  Draw the distance-time graph for cyclist Y using the same axes. [1]
(1) At what time will both the cyclists cross each other? [1]
(1) How far is cyclist Y from Town B at that time? n
10.  Answer the whole of this question on a si ngle sheet of graph paper.

[2]

[3]

(1]
[1]
(1]
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